

PREPACKAGED DELIVERY SERVICE

Your home delivery will be dispatched no later than the week ending 19th January 2024 but where possible will be dispatched earlier, if placed on or before the Return date of Friday, 22nd December 2023.

All home delivery orders returned on or before the 22nd December 2023 will receive FREE home delivery. Any home delivery orders received past this date will incur a late fee of up to \$8.

Please refer to Campion's website www.campion.com.au for up-to-date information on our trading hours and our full terms and conditions.



Your Campion Store 25B BAILE ROAD CANNING VALE WA 6155 Contact Us 08 6240 2778 salesperth@campion.com.au

		Item Item Qty	Unit	Total
Office Use	Description	No. Reqd Reqd	Price \$	Amount \$

### YEAR TWELVE

Please note that there are digital products (eCode or cCode) on this Resource List. These products are single user licenses and are only valid for 1 year (unless otherwise stated). Digital resources cannot be returned, refunded or exchanged if you do change your mind, even if you haven't used or activated them. We recommend you please order your items carefully ensuring the correct resources are selected for your child's subjects.

Please allow sufficient time for digital resources to be processed and made available to the student after purchase. When ordering after the return due date some items may go to backorder and need to be reordered from the supplier.

### 2024 SCHOOL LEVY

Compulsory Levy ATAR Tuition Levy: \$200 General Pathway Levy: \$100 Electives Levy 1) VET Certificate II, III, IV of \$150/annum 2) VET Cookery, VET Catering of \$200/annum 3) UniReady of \$200/annum 4) Visual Arts of \$100/annum Payable at the School Accounts Office

	APPLIED INFORMATION TECHNOLOGY ATAR & GENERAL YF	R 12					
P55442	Display Book A4 20 Pocket Black Refillable	1		1	2.15	2.15	
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	2		2	2.15	4.30	
P50844	Memory Card MicroSDHC 16GB Class10 with SD Adaptor-NO RETURN	3		1	14.95	14.95	
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	4		1	14.05	14.05	
	ARABIC ATAR						
P55158	Binder Book A4 128 Page 8mm Premium with Margin Spirax	5		1	2.15	2.15	
P55518	Eraser Plastic Pencil Medium - Faber	6		1	0.85	0.85	
P51006	Document Envelope A4 PP With Press Stud Blue	7		1	1.25	1.25	
P55646	Glue Stick 21gm	8		1	3.00	3.00	
P56176	Pencil (2B) Copperplate	9		1	0.55	0.55	
P50387	Pen Ballpoint Blue 1.0mm Papermate Inkjoy	10		1	0.65	0.65	
	BUSINESS MANAGEMENT ATAR YEAR 12						
P06045	WA ATAR Business Management and Enterprise: A Res for Yr 12 [J Hinton]	11		1	67.95	67.95	
P55442	Display Book A4 20 Pocket Black Refillable	12		1	2.15	2.15	
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	13		2	2.15	4.30	
	CHEMISTRY ATAR YEAR 12						
	Please choose ONE of the Options Below		<u>Choose One</u>				
	Option 1: Print and Digital						
E10254	WA ATAR Exploring Chemistry Yr 12 (Print/MyConnect)	14	DIGITAL ITEM	1	45.50	45.50	
	This item contains a physical book (WA ATAR Exploring Chemistry 12) and included in your order and access to your digital resource including log in det choose carefully before ordering this product as once purchased, this resource change your mind.	ails will	be provided to you	during	class. Plea	ase	
	- OR -						
	Option 2: Digital Only						
E01412	Digital WA ATAR Exploring Chemistry Year 12 (MyConnect)	15	DIGITAL ITEM	1	34.50	34.50	
	This item contains a digital only resource (WA ATAR Exploring Chemistry including log in details will be provided to you during class. Please choose capurchased, this resource cannot be returned, refunded or exchanged if you c	arefully I	pefore ordering this			ource	

	Please tick the items required in the	Item	<b>√</b> Item	Qty	Unit	Total
Office Use	Description	No.	Reqd	Reqd	Price \$	Amount \$
	Please choose ONE of the Options Below		<u>Choose One</u>			
C10770	Option 1: Print and Digital Pearson WA Chemistry 12 Print & Digital (Provisioned) This item contains a physical book (Pearson WA Chemistry 12) and a di your order and access to your digital resource including log in details will before ordering this product as once purchased, this resource cannot be n mind.	be provide	d to you during cla	ass. Ple	ase choos	e carefully
C10771	<ul> <li>OR -</li> <li>Option 2: Digital Only</li> <li>Pearson WA Chemistry 12 Digital (Provisioned)</li> <li>This item contains a digital only resource (Pearson WA Chemistry 12) for log in details will be provided to you during class. Please choose carefully resource cannot be returned, refunded or exchanged if you change your resource cannot be returned.</li> </ul>	before or				
P55442		40			0.45	0.45
P55442 P50328	Display Book A4 20 Pocket Black Refillable Exercise Book A4 128 Page 8mm with Margin Spirax #110	18 19		1 2	2.15 2.15	2.15 4.30
	COMPUTER SCIENCE YEAR 12 No Text Required			-		
P50114	Notebook A4 120 Page Q595/P595 Spiral	20		1	3.55	3.55
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	21		1	14.05	14.05
	ENGLISH GENERAL YEAR 12					
P07076	Arrival, The [Shaun Tan]	22		1	19.99	19.99
P05574	Matilda Senior English Skills 11 Workbook [Sadler & Winter]	23		1	55.50	55.50
P51926	Document Wallet A4 Orange with Elastic Cord	24		1	5.40	5.40
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	25		2	2.15	4.30
P51176	Highlighters Pkt 4 Textliner Ice Faber Castell	26		1	6.95	6.95
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	27		1	3.80	3.80
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	28		1	14.05	14.05
	ENGLISH ATAR YEAR 12					
P11834	WA ATAR English Yr 12 [R Quin, W Cody & H Rayner]	29		1	60.95	60.95
P04138	Death of a Salesman (Play) [Arthur Miller]	30		1	19.99	19.99
P34027	Good Answers ATAR English 2024 [ETAWA]	31		1	31.50	31.50
	(Due approx. May. Good Answers English 2024 will be available only in Te	rm 2, how	ever, please order	through	n Campion	to secure
P55110	<i>your copy)</i> Binder A4 2D Ring 25mm PE Black	32		2	5.35	10.70
P55442	Display Book A4 20 Pocket Black Refillable	33		2	2.15	4.30
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	34		4	2.15	4.50 8.60
	ENGLISH LITERATURE ATAR YEAR 12		_			
P02701		25		1	22.00	22.99
P06994	A Streetcar Named Desire (Modern Classics) [Williams, Tennessee] Great Gatsby, The [F. Scott Fitzgerald]	35 36		1 1	22.99 22.99	22.99 22.99
P01193	Heart of Darkness and the Congo Diary [Conrad, Joseph]	30		1	17.99	22.99 17.99
P02128	No Sugar (Currency Play) [Jack Davis]	38		1	24.99	24.99
P34028	Good Answers ATAR Literature 2024 [ETAWA]	39		1	31.50	31.50
	(Due approx. May. Good Answers Literature 2024 will be available only in secure your copy)			-		
>34567	Literature: WA Year 11 & 12 (Print & Digital) [E Cattapan & K Fielding] New Edition for 2024	40		1	49.95	49.95
P51926	<i>(Due approx. May)</i> Document Wallet A4 Orange with Elastic Cord	41		1	5.40	5.40
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	41		2	2.15	4.30
P51176	Highlighters Pkt 4 Textliner Ice Faber Castell	12		1	6 06	6 06
P51176 P50261	Highlighters Pkt 4 Textliner Ice Faber Castell Post It Notes Super Sticky Neon 76mm x 76mm Pkt 3	43 44		1 1	6.95 7.45	6.95 7.45

#### Please tick the items required in the box provided $\checkmark$ Unit Item Item Qty Total Description Reqd Price \$ Amount \$ Office Use No. Regd **ENGLISH AS AN ADDITIONAL LANGUAGE/DIALECT (EALD) ATAR YEAR 12** P02128 No Sugar (Currency Play) [Jack Davis] 46 1 24.99 24.99 P02067 47 22.99 22.99 Animal Farm (Penguin) [Orwell, George] 1 P30035 Oxford Australian School Dictionary (7E) [Mark Gwynn] 48 19.95 19.95 1 P51926 Document Wallet A4 Orange with Elastic Cord 49 5.40 5.40 1 P50328 Exercise Book A4 128 Page 8mm with Margin Spirax #110 50 2.15 2.15 1 P51176 Highlighters Pkt 4 Textliner Ice Faber Castell 51 1 6.95 6.95 P50261 Post It Notes Super Sticky Neon 76mm x 76mm Pkt 3 52 7.45 7.45 1 P52086 USB Pocket Flash Drive 32GB - NO RETURNS 53 14.05 14.05 1 **HEALTH STUDIES ATAR YEAR 12** WA Health Studies Year 12 ATAR 2E [Emily Lockhart] P07123 54 1 70.00 70.00 **HEALTH STUDIES GENERAL YEAR 12** P07856 Health Studies - Year 12 General Pathway [Emily Lockhart] 55 1 40.00 40.00 **HUMAN BIOLOGY ATAR YEAR 12** Please choose ONE of the Options Below Choose One **Option 1: Print and Digital** C10782 Nelson WA ATAR Hum Perspectives 3&4 8E Print&Dig(Provisioned 56 DIGITAL ITEM 1 87.95 87.95 This item contains a physical book (WA ATAR Human Perspectives 3&4 8th edition) and a digital resource for Human Biology. The book will be included in your order and access to your digital resource including log in details will be provided to you during class. Please choose carefully before ordering this product as once purchased, this resource cannot be returned, refunded or exchanged if you change your mind. - OR -**Option 2: Digital Only** C10783 Nelson WA ATAR Human Perspectives 3&4 8E Digital(Provisioned 57 DIGITAL ITEM 54.95 54.95 This item contains a digital only resource (WA ATAR Human Perspectives 3&4 8th edition) for Human Biology. Access to your digital resource including log in details will be provided to you during class. Please choose carefully before ordering this product as once purchased, this resource cannot be returned, refunded or exchanged if you change your mind. P55442 Display Book A4 20 Pocket Black Refillable 58 1 2 15 2.15 P50328 59 2 Exercise Book A4 128 Page 8mm with Margin Spirax #110 2.15 4.30 **MATHEMATICS APPLICATIONS ATAR YEAR 12** Please choose ONE of the Options Below Choose One **Option 1: Print and Digital** P33829 Nelson WAmaths Mathematics Applications Yr12 (Print&Digital) [Greg Neal et 60 89.95 89.95 1 al] New Edition for 2024 - OR -**Option 2: Digital Only** E33829 Digital Nelson WAmaths Math Applications Yr12 (Access Code) 61 DIGITAL ITEM 1 49.95 49.95 New Edition for 2024 Please choose carefully before ordering this product as once purchased, this resource cannot be returned, refunded or exchanged if you change your mind. P34044 Creelman Exam Questions Math Application ATAR 3&4 2024 [Shanahan 50.00 50.00 62 1 Mooney] (Due approx. March) [Compulsory]

Office Use	Description	ltem No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$			
C11268	ATAR WA Math Apps Yr12 Revision Series (Print/MyConnect)	63	DIGITAL ITEM	1	59.00	59.00			
	This item contains a physical book (ATAR WA Math Applications Yr12 Revision Series) (Revised) and a digital resource for Maths Applications. The book will be included in your order and access to your digital resource including log in details will be provided to you during class. Please choose carefully before ordering this product as once purchased, this resource cannot be returned, refunded or exchanged if you change your mind.								
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	64		1	281.95	281.95			
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	65		1	41.95	41.95			
P55442	Display Book A4 20 Pocket Black Refillable	66		4	2.15	8.60			
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	67		4	2.15	8.60			
P55670	Graph Pad A4 25/40 Leaf 2mm 7 Hole Punched	68		1	5.05	5.05			
	MATHEMATICS ESSENTIAL YEAR 12								
P12106	Mathematics for Aust 12 Essential Maths (Text/Digital) [Haese]	69		1	59.40	59.40			
P55442	Display Book A4 20 Pocket Black Refillable	70		4	2.15	8.60			
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	71		4	2.15	8.60			
P55670	Graph Pad A4 25/40 Leaf 2mm 7 Hole Punched	72		1	5.05	5.05			
P51124	Maths Set Helix Oxford 9 Piece	73		1	7.95	7.95			
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	74		1	41.95	41.95			

MATHEMATICS FOUNDATONS YEAR 12

To be advised

### MATHEMATICS METHODS ATAR YEAR 12

	Please choose ONE of the Options Below		<u>Choose One</u>			
	Option 1: Print and Digital					
P33827	Nelson WAmaths Mathematics Methods Year 12 (Print&Digital) [Greg Neal et al]	75		1	89.95	89.95
	New Edition for 2024					
	- OR -					
	Option 2: Digital Only					
E33827	Digital Nelson WAmaths Math Methods Year 12 (Access Code)	76	DIGITAL ITEM	1	49.95	49.95
	New Edition for 2024					
	Please choose carefully before ordering this product as once purchased, this if you change your mind.	resour	ce cannot be returr	ned, ret	funded or e	exchanged
P34046	Creelman Exam Questions Math Methods ATAR 3&4 2024 [Tim Oates]	77		1	50.00	50.00
	(Due approx. March) [Compulsory]					
C11334	ATAR WA Math Methods 12 Revision Series (Print/MyConnect)	78	DIGITAL ITEM	1	59.00	59.00
	This item contains a physical book (ATAR WA Math Methods Yr12 Revision 3 Methods. The book will be included in your order and access to your digital reso during class. Please choose carefully before ordering this product as once purc exchanged if you change your mind.	ource i	ncluding log in deta	ails will	be provide	ed to you
P55442	Display Book A4 20 Pocket Black Refillable	79		4	2.15	8.60
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	80		4	2.15	8.60
P55670	Graph Pad A4 25/40 Leaf 2mm 7 Hole Punched	81		1	5.05	5.05
P51124	Maths Set Helix Oxford 9 Piece	82		1	7.95	7.95
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	83		1	41.95	41.95
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	84		1	281.95	281.95

	Please tick the items required in the b	oox pr	rovided $\downarrow$			
Office Use	Description	ltem No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
			-	_		
	MATHEMATICS SPECIALIST ATAR YEAR 12					
[	Please choose ONE of the Options Below		<u>Choose One</u>			
	Option 1: Print and Digital					
C10750	Nelson WA ATAR Maths Spec 3&4(Rev) Print&Digital(Provisioned	85	DIGITAL ITEM	1	76.95	76.95
	This item contains a physical book (WA ATAR Maths Specialist Units 3& The book will be included in your order and access to your digital resource class. Please choose carefully before ordering this product as once purchas exchanged if you change your mind. - OR -	including	log in details will	be prov	ided to yo	u during
	Option 2: Digital Only					
C10751	Nelson WA ATAR Maths Spec 3&4 (Rev) Digital (Provisioned)	86	DIGITAL ITEM	1	45.95	45.95
	This item contains a digital only resource <b>(WA ATAR Maths Specialist Un</b> digital resource including log in details will be provided to you during class. once purchased, this resource cannot be returned, refunded or exchanged	Please c	hoose carefully be			
P34048	Creelman Exam Questions Math Specialist ATAR 3&4 2024 [Tim Oates]	87		1	50.00	50.00
	(Due approx. March) [Compulsory]					
C11269	ATAR WA Math Spec Yr12 Revision Series (Print/MyConnect)	88	DIGITAL ITEM	1	59.00	59.00
	This item contains a physical book (ATAR WA Math Specialist Yr12 Revisi Specialist. The book will be included in your order and access to your digital during class. Please choose carefully before ordering this product as once pu exchanged if you change your mind.	resource	including log in d	etails w	ill be provi	ded to you
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	89		1	2.15	2.15
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	90		1	281.95	281.95
	PHYSICAL EDUCATION STUDIES GENERAL YEAR 12					
P06053	WA Physical Education Studies: A Resource for Yr 12 General [R Gaujers]	91		1	78.95	78.95
	PHYSICS ATAR YEAR 12					
	Please choose ONE of the Options Below		<u>Choose One</u>			
	Option 1: Print and Digital					
C10774	Pearson WA Physics 12 Print & Digital (Provisioned)	92	DIGITAL ITEM	1	93.95	93.95
	This item contains a physical book ( <b>Pearson WA Physics 12</b> ) and a digital order and access to your digital resource including log in details will be provide before ordering this product as once purchased, this resource cannot be remind.	resource vided to y	e for Physics. The ou during class. F	book w lease c	ill be inclu hoose car	ded in your efully
	Option 2: Digital Only					
C10775	Pearson WA Physics 12 Digital (Provisioned)	93	DIGITAL ITEM	1	55.95	55.95
	This item contains a digital only resource ( <b>Pearson WA Physics 12</b> ) for Ph details will be provided to you during class. Please choose carefully before cannot be returned, refunded or exchanged if you change your mind.					
	Please choose ONE of the Options Below		<u>Choose One</u>			
	Option 1: Print and Digital					

E10262 WA ATAR Exploring Physics Yr 12 (Print/MyConnect) 94 DIGITAL ITEM 1 45.50 45.50 This item contains a physical book **(WA ATAR Exploring Physics 12)** and a digital resource for Physics. The book will be included in your order and access to your digital resource including log in details will be provided to you during class. Please choose carefully before ordering this product as once purchased, this resource cannot be returned, refunded or exchanged if you change your mind.

- OR -

01-11-2023 16:49:31

			•			
		ltem	<b>√</b> Item	Qty	Unit	Total
Office Use	Description	No.	Reqd		Price \$	Amount \$
	Ontion 2. Divital Only					
E01407	<b>Option 2: Digital Only</b> Digital WA ATAR Exploring Physics Year 12 (MyConnect)	95	DIGITAL ITEM	1	34.50	34.50
201107	This item contains a digital only resource (WA ATAR Exploring Physics					
	log in details will be provided to you during class. Please choose carefully	y before ord				
	resource cannot be returned, refunded or exchanged if you change your	mind.				
P55442	Display Book A4 20 Pocket Black Refillable	96		1	2.15	2.15
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	97		2	2.15	4.30
	POLITICS & LAW ATAR YEAR 12		_			
	Please choose ONE of the Options Below		<u>Choose One</u>			
	Option 1: Print and Digital					
E10346	WACE Politics & Law 3&4 Power/Acc/Rights 2E(Print/MyConnect)	98	DIGITAL ITEM	1	93.95	93.95
	This item contains a physical book (WACE Politics & Law 3&4 Power/A & Law. The book will be included in your order and access to your digital					
	during class. Please choose carefully before ordering this product as onc or exchanged if you change your mind.					
	- OR -					
EM00700	Option 2: Digital Only				- 4 00	- 4 00
EM20709	Digital WACE P&L 3&4:Power Account & Rights 2E (MyConnect)	99	DIGITAL ITEM	1 m) for D	54.99	54.99
	This item contains a digital only resource <b>(WACE Politics &amp; Law 3&amp;4 Po</b> to your digital resource including log in details will be provided to you duri product as once purchased, this resource cannot be returned, refunded o	ing class. P	lease choose car	efully be	efore order	
C10787	PSYCHOLOGY ATAR YEAR 12 Nelson WA ATAR Psych Self&Others 3&4 3E Digital(Provisioned) This item contains a digital only resource (WA ATAR Psychology: Self & digital resource including log in details will be provided to you during class.			r Psycho		
	once purchased, this resource cannot be returned, refunded or exchanged	•	• •			
E31951	Digital Nelson VICscience Psychology VCE 3&4 (Access Code)4E					
	Please choose carefully before ordering this product as once purchased, t if you change your mind.	this resourc	e cannot be retur	ned, ref	unded or e	exchanged
P31953	Nelson VICscience Psychology VCE 3&4 Skills WB (4E)	102		1	34.95	34.95
P50575	Display Book A4 40 Pocket Insert Cover Black Non-Refillable	103		2	5.45	10.90
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	104		2	2.15	4.30
	UNI READY YEAR 12					
	No Text Required					
P55706	Dividers Index A4 10 Tab Manilla Bright Colours	105		1	2.25	2.25
P50450	Exercise Book A4 64 Page 8mm with Margin Spirax #106	106		1	1.30	1.30
P55097	Lever Arch File A4 75mm Board	107		1	5.35	5.35
P52025	Pocket Plastic A4 11 Hole Pkt 10 Heavy Weight 70 microns	108		1	7.95	7.95
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	109		1	14.05	14.05
	VET CERTIFICATE II IN COOKERY YEAR 12					
P55442	<i>No Text Required</i> Display Book A4 20 Pocket Black Refillable	110		1	2.15	2.15
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	111		2	2.15	4.30
	VET CERTIFICATE III IN CATERING YEAR 12					
	No Text Required					
P55442	Display Book A4 20 Pocket Black Refillable	112		1	2.15	2.15
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	113		1	2.15	2.15

Office Use	Description	ltem No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	VET CERTIFICATE III & IV IN BUSINESS YEAR 12					
P55706	Dividers Index A4 10 Tab Manilla Bright Colours	114		1	2.25	2.25
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	115		1	1.65	1.65
P55097	Lever Arch File A4 75mm Board	116		1	5.35	5.35
P56328	Pocket Plastic A4 11 Hole Pkt 10	117		1	1.30	1.30
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	118		1	14.05	14.05
	VISUAL ARTS GENERAL YEAR 12					
P52187	Display Book A3 20 Pocket Foldermate Black (Non-Ref)	119		1	13.40	13.40
P55518	Eraser Plastic Pencil Medium - Faber	120		1	0.85	0.85
P55651	Glue Stick 35gm Bostik Blu Stik	121		1	4.50	4.50
P52037	Marker Permanent Twin Tip Black Sharpie	122		1	6.35	6.35
P50004	Pencil (2B) Economy	123		4	0.50	2.00
P58537	Pencils-Coloured 12's Faber Classic Colour	124		1	6.45	6.45
P51356	Sharpener Pencil Wave Double Hole	125		1	2.05	2.05

Number of Boxes ticked:



\$0.00

ESTIMATED AMOUNT DUE (PRICES CORRECT AT 01/11/23)

Postage (Home delivery only)

\$